Weber #p iz =

ZEG RS P RS A FAGES Lo HAE D Vo
L350 mREp 25 % [o)hRA A [FL] %R[JEFTL'] @ & [v]
S[LT'] > £ [£]5[L] -

& T ILE

= ppvil?
F: 0=1+x
L: 0=-1-4x+y+z

T: 0=2x-y

faz. ) @ xs=10y=2> 7571 *®

O
T = 9
pvl
Weber #F, % 1 5% chip|dc >
p pvie
¢ o

}5’7‘);\]'|-1T%%p, ﬁ‘_‘illu—rﬂl_m%‘\ﬁ N '?’{E‘Z'!L’Z{ﬁ”{ ”Lr%\»ﬂ‘» , o

AN
i Lm

v

BAUTAR R A O p 2 AR RS o g AN G

o
P, = £ ’ o =2
' P g o,
"
(1) imig e
14
_ /2 -1/27 -1/2
Ve = — =0, Py Lr
Vlﬂ
(2) Pz
L
R S O Vo S VSR V2
t, = ST Lo, p,

r



(4) 4ot B g e

(5) 7 £% <

(6)4 21?1—? L

(7) @4 2{5’{ pL

(9) #=B35¢ v

(10) & & Hge

(11) ¥4 2%’{ L

_ 3o -1 _ p3/2 _1/2 5 ~1/2
Qr_Ltr _Lro-r Pr

‘r

a = Ll’tf72 = Lfizal’ilpf

Sf :LI"SPI’
ﬁ;’ =Sfaf :prl"ZGfl

1/2L 5/2 __1/2
(o}
T r

M =SFVf=pf

W ZEZ_—I :p~3/20_5/2L—1

r vim? g r r r


../../../hydraulics.html
../../../hydraulics.html

